CARLTON CRICKET CLUB 3rd XI Vs Kirk Brae 1st XI

j. ESCA Division 4

'STEEDMAN
(5 COMPAN

3
W

PLAYED AT: Double Hedges DATE: 20th August, 2011

RESULT: Carlton lost by 149 runs

INNINGS OF: Stenhousemuir BOWLING ]
Nol| Batsman [[ How Out |[  Fielder || Bowler |[Rund| 6s]| 4s Bowler Overs|Mdng| Runs ||Wkts]|
1 |[Colvin [[Bowled |f [lAhmed 14)| 1 [fAhmed 10 1 27 3|
2 [|Gandhe [[caught  [lwalker [[walker eoff 1l 8 2 |[|carter 6] O 32 off
3 [lsmith [[caught Newman Martin gslf 3lf 9 3 ||Whatley 0] o 59 1|
4 |sangster [[caught Whatley Walker 0 4 |[walker 10 1 41 3|
5 [|Isaleem [[Run Out 11 2 5 ||Rittoo 6] O 24 off
6 [Blake [[caught Whatley Whatley 25l 1 6 ||Macpherson oll 27 ol|
7 |lPatel [[Bowled Ahmed 6 7 [IMartin 2f o 15 |
8 |[Kilminster [[Not Out 8 8 [
9 |[shahzad Bowled Ahmed 0
10 |[Mort Bowled Walker )|
11 [[seditas DNB I

[[Extras (4b, 1lb, 7w, Onb ) 12ff

[[roTAL (10 wickets, 46.1 Overs) 230l
INNINGS OF: Carlton 3rd XI BOWLING
No| Batsman [[ How Out Fielder Bowler |Rung| 6s]| 4s Bowler Overs|[Mdng| Runs || Wkts|
1 [[Ahmed [[Bowled Shahzad 6 1 |[saleem 8 1 19| 4
2 [|whatley [[Caught Saleem 1 2 |Ishahzad 7l o 16 2ff
3 |Imartin [[Bowled Shahzad 4 3 ||Gandhe s 3 2f o
4 [[Burns [[Bowled Saleem 8 4 |[[seditas 4 1 6| O
5 [IR Macpherson [[Caught Mort 19 5 [|ISangster 8.2 6 s 2|
6 |INewman Caught [[saleem 6 [[Mort 7 1 25 2||
7 |[Kennedy LBW [[saleem 7 [[Smith 1 0 3 ol|
8 [|C Everett LBW [[Mort 8 I
9 [lwalker Bowled [[sangster 25 4 '
10 [|Rittoo Bowled [[sangster
11 ||Carter Not Out ||

[[Extras (4b, 1lb, 5w, 1nb) 11

[[roTAL (1 wickets, 21.3 Overs) 81




